Model Question Paper
Class-10+1 (Regular) (Session:2020-21)

Subject-Accountancy

Time Allowed : 3 hrs Maximum Marks : 85
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While answering your questions, you must indicate on your A/Sheet the
same question number as appears in your question paper.

Tt 5o AfEE B | et foees 58 ™= €1 Q.No. 6, 7, 8, 12,
14, 15, 18)

All questions are compulsory. Internal choice has given in Q.No.
Q.No.6, Q.No.7, Q.No.8, Q.No.12, Q.No.14, Q.No.15, Q.No.18,
Q.No.19.
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Do not leave blank page/pages in your answer book.
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Question paper is divided into two parts Part-A and Part-B, Part-A
carries 51 marks and Part-B carries 34 marks.
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Answers should be brief and according to the marks alloted.

. ST § 39 91 T ©7

What do you mean by Accountancy? 2
1




. SHeHEE AT qT e SATEE FARNST % 372 T HifS |

Explain the meaning of ‘‘Business Entity” and “Going concern”
concepts. 2
. Trafafad aaie wss] & T Hifeg:-

() gsit (@) & afafoed (1) SER

Explain the following accounting terms: 3
(a) Capital (b)Bank overdraft (c) Creditors
. Trfafaa st s sife:-
(%) =e] IR St A= (@) arar =1 fagr
Explain the following: Lubt].5=3
(a) Going concern assumption (b) Principle of Materiality
. NS JHIG T T SR 57
What are the utilities of accounting standards. 3
. T4 ool | T giafte a9 ;-
Jan, 2020

1 e 10000 T THTER T5000 | SATIR 3T feha

5 HIA Tehs RISl 2000

9 g A d= 1000

11 IR ¥ A GiE T5000 =

Journalise the following transactions:

Jan, 2020

1 Started business with cash 10,000 and furniture 5000
2




5  Purchased goods for cash 2000

9  Sold goods for cash 1000

11 Purchased goods from shard 5000
AAAT/Or

Sed G- YoTel! =l 1 Ted ©7

What is the importance of double entry system.

. T SF-371 % SR W eEieh GHeRToT S -

(i) 10,000 § AR Y foha |

(i) 5,000 HT Thg TSl G |

(iii) 3,000 T A TF hT = |

(iv) 2,000 T HIMA I |

(v) F1,500 Tl FAT=R G| 3

Show the accounting equation on the basis of following transac-

tions:

(i) Started Business with cash £10,000

(ii) Purchased goods for F5000.

(iii) Sold goods to Ram for F3000.

(iv) Bought machine for £2000.

(v) Bought furniture for F1500.
3{Id1/Or

Ushg =TTt 3taa TRy e ?
Give the proper definition of Cash book?




8. 31 ¥/, 2020 i Uehs Tl T700 I Sfoe S 3w K @l ot | f=
AT % STHR TR S TArEE foeron T@m Hif;

<
1. e 1 AR g A ek shee T g 250
2. =k fifa fren weg A & o o =T gen 300
3. S A = shiee feman 50
4. SR STHT a1 T STHTAEa &l T 200

On 31st March, 2020 the cash book shows a debit bank balance at

Z700. Prepare a bank reconciliation statement on the basis of follow-

ing information: C 3 )
T
1. Cheque deposited but not credited 250
2. Cheque issued but not presented for payment. 300
3. Interest credited by bank 50
4. Cheque deposited but dishonoured 200
g/ Or '

e FE & WY 9 UIE G K I61 H =R F B 91 HRO o |
Write any five causes of difference between cash book balances

and pass book balances.
9. To=1 eryfsai =1 gum =i:- (3)
() EreT | T5000 W gd g Hed W H shise A T




10.

11.

12.

(i) T H T2000 A @ g T® AR ITH AR @ A
fae = w)

(iii) WU TIM T =99 1,550 AR T H Sfae & K3

Recitfy the following errors:

(i) Received T5000 from Sohan but credited in the Mohan's A/C.

(i) Salary 2000 Paid to Ramesh but debited to his personal A/C.
(iii) T1550 spent on installation of plant was debited to repair's A/C.

AT S HHA & 34 A Sl =l =0 ity | 137
Describe the points to be remembered while preparing trial bal-

ance.

T Ud ST H SRR Sars | [‘Esg

Differentiale between reserve and provisions.

1 e, 2018 T TH T=ITES A 20,000 i T 3 &1 | 1 o7,
2019 T 10,000 T THL HLMA 57 FT AT 1 SHAL 2020 FT T5000
T TERT TR 3 T | 37 FRAAT 9% 10% A1t <X 9 AN 719 qGid
BN BIE ST ST © | =1 ot o ford w9 @ o e |

On 1st January, 2018 Ram Enterprise pruchased a machine for
Z20,000. On 1st July, 2019 A second machine was purchased for
<10,000 and on 1st January, 2020 A third machine was purchased
for ¥5,000. The firm depriciates its machines @10% p.a. on

diminising balance method. Show machine account for four years. 8
31T / Or ol




13

14.

15,

T Rl #ed €2 o ot Rl usfa W s feoht fafaw )
What is Depriciation? Write a brief note on fixed instalment method
of depriciation.
fafra-u3 ot = diF fagvand fafem 3
Write down any three characteristics/features of Bill of exchange.
01 5[, 2020 T TH 7 3T Tl T5000 o Tl HA o= | I 7 T8
A I T 39 T 1w fafra faus o yam @9 98 & 9"
feren <t ® formn | o7R 3 38 wieR fowan aon v =i K 3=
fafer o faam =1 A & S T | 9 SHeRi i TH 991 $TH hi
qEaeht  fafed 5
On 1st June 2020 Ram sold goods to Amar worth F5000. On the
same date, Ram draw a bill of exchange on Amar for the amount pay-
able after three months. Amar accepted this and returned it to Ram.
The bill is duly paid on maturity. Record the transactions in the books
of Ram and Amar.
31d1/Or
fafrra-o7 o wfaen-19 § i == wife |
Distinguish between bill of exchange and promissory note.
urT-@ ( fa<ia er@ien T - 1)
Part-B (Financial Accounting- IT)
Torae o feafa foemor & 7 of=r 72 4
What are the differences between trial balance and balance sheet.
TA/Or
31fram @l | e = FHe 82 ifm wrl & f i waneRatstt
% @R § fafeu
What do you mean by Final Accounts? Write about any three users of
final accounts.
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16.

17.

(a) ST =9 TS ST =9 H R S B2
What is the differenc between capital expenditure and rev-
enue expenditure. 2

(b) A @l | frefefian gamEem S8 99 g 87

How the following adjustments treatd in final accounts:

(i) ST H|WU (i) Bad Debts

(ii) Yolt R =TS (ii) interest on Capital

(iii) =T ¥ 7T (iii) Loss by Fire

(iv) gosd =4 (iv) Prepaid expenses 2x4=8

TSI o1 g&dehl & e 2020 1 1 99 W g3 R | 79 ST AN
TE A-BI @ e 31 fegwe, 2020 1 feafa foawo Tar Fifsa:
Following are the balances extracted from the books of Raja for

the year 2020. You are required to prepare, Trading and profit and
loss account for the year ended 31st December, 2020 and a bal-

ance sheet as on that date: 8
Debits () | Credits €3
Salaries 9 1,000 |Sales forsma 40,000
Rent forzr=n 500 | Purchase 33 ATt 300
General Expenses 9 =4 800 | Creditors &R 10,000
Wages HIg{l 1,200 [ Commision &HeH 700
Carriage TSl 700 | Bills Payable sz faas | 1,000
Discount srdt 200 | Capital st 34,300
Debtors TR 1,000
Plant 9em02 8,000
Building ¥&q 9,000
Opening stock YR g 8,500

7




Purchases &4 40,000
Sales return fagse ara=t 500
Gas and water 79 9 1 400

Cash in hand %€ 39 1,500
Cash at bank s 919 4,000
86,300 86,300
18. 1T TUT SEEY U 319 = T © 7
What do you mean by Data and Data base. 3
3Ad1/Or

TRETeh | RIS I F Heed 87
What is the importance of computers in accounting?
19. HEIIT TUIEH o F1-F1 ST &2 5
What are the components of computer system?
{YA/Or
FHTOZST YOG i HH 1 &2
What are the limitations of computer system?
20. SR H F-F fagand §72 4
What are the features/characteristics of Data base.
HYAT/Or
SIS Yo JUCAT 9977 § 7 S5 oFl-oF1 W &2

What do you mean by Data base system? What are its uses?
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